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SAMPLE PROGRAM read. o 3x4 watrix
ondh o & ve ctov, Prnt e,

calcnlate thew Pproduct r Prime.
Void multiply ( douwble a [314]) , double b (4],
double < [31)
{iM-C L,j,', double &.UJVVL;
for (C= o; L<35 -I'+L)
{sum. = o;
for (j=0; J<4%; ++4)
{ swm += () x b[jI;]}
C[i]: éum)‘

} I



oo .
prwc_mwbm( double 0«[3][4'1)

{ we &4
for (ix0) i<3; +oi)
{J{or (j= O3 4<% H )3
pcinef ("u%835", ali1lj]);
J

{
’waf("\w"))‘ Lf cvstomesed.

§
} pProk-3vec, _4vec:
See- NOLeS. .



it manre ()

t SGGMf ("%d %d", &L, &™) JVo: Axm
for- (L=03 L<ell; ++i)

for(J=0; J<m; +J)

{ scans ("% 45", §(atiagj));f

scanf ("5, 8 )/ b, haightn
fo,,-(j-.-.-o} jLr; ++j)

{ scong ("%A$", & BL}Y

mudtply (o, b, <);

ok cRlef o



AvToM axstL-QMIS U YOULUIMRS

voud vudliply (double a-[31047,
dowlde bl4] , dowble c[31) { -}
M"Pl‘j (C(/, b! C)-’
The block ¢ (s a Copy of the Ted C
YET resudt is pux there. How ?
answey : WVM A OAAreSIes,

C fg cc,a_,UU b% \/an ” y
QU OMS  Ore Pos)d et '9‘3 referenca

S umalonrdi, scamf("%dv”) ‘3’"’)/




Uk X \_I‘S] J ObOVV{:)le. 4[3] _41} SToRAGE MAPPING

Q (1234, Sa,g) X [L] at A+4L
Xt ____- g | o] ok | k|
E (1294, sa4) '3 14




x[c] ax 1234 + 4L

x[iu] at 1290
x[|5’l 1294 OOR

X [41 ak 1218 OOFR
o[ICp]l ax 129%+ 320 + 8

o[21[1] ot 129¢ +G4+8
= 366 2L CeLN A

ﬁxm%. Solve -for' C x[&] has Sowmae oldress
| os o [z][1]
1254 + 40 = 1366  4i= 132 (= 33 (OOR)




The Valat of om anray vaxiable

s the address ?f ts first elemaent.
TJo cadodate the addacess qf are rroy enCvy
G on ke L a,owwo\{w ptsSta/tw;
odduess ands Hhae Stze of WS enlres

SWW&? OVfifl[(j]

X=0ov! S om erovr. X omdh v
Y oxe, oddaesses. Lk wouwld be
Like s

1234 = 1294 ,



